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L1: C=D
F=C*C
B=C+D
A=B+C
E=A+B
D=A+E
C=E+D
IFF <10 GOTO L2
GOTO L1
L2:
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X=6

IF (*) THEN X =3 ELSE X=5

IF (X < 4) THEN X=X+3 ELSE X=X+1
IF (*) THEN X =2 ELSEX = 4

IF (*) THEN X = 1

// IF (*) means nondeterministic choice
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class C{

int x;

C(){x=0;}

static void inc(C p) {p.x = p.x + 1;}
}

class D {
void do() {
C[] c=new C[3];
c[0] = new C();
c[1] = new C();
c[2] = new C();
MAP(c,inc);
// at this point c[0].x == ¢[1].x == ¢[2].x ==
}
}

.NXMN AT NN Y1 e7'onipn 2wn TN 701 N7 w'w D'wn DX NRN (imp 15) .1
S WOT K7 DR ,D'RNNN TIR ITIKODN NX 1790 TIzn NN'Y! 27W1 '11'w WAT DX (NI 5)
pm
DY m NTINN 72pnY 75 KMAP 72 MAP 0 N71Iy9 NX DXA'NN DNYD TYD Nxpa NN (Nim 5) .3
UTN YN V' TRNI DA'RNNN D'0I9'0AI D'VINIAIXN 190N DDIYN 190NI D'VINIAIN 190N
NN DTINNAN D N1INY7 N1 .01 D'OI9'0N I'N' D'VINIARD D PN .ATINAN 7W AITNNN 019'0N
.M Y [IURIN 0INIARD 7Y 019'0N 7W NP7NNA NYTAMN N'ORVO NTINN

N

NAIT

class E{

intget(){..}
}

class C{

// like before

static void addD(C p, E q) { p.x = p.x + g.get(); }
}



class F {
void boo() {
C[] c = new C[3]; ... // initialize c
El] e = new E[3]; ... // initialize e
KMAP(c, e, inc);

// at this point c[0].x == ¢c[1].x == ¢[2].x ==
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